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People used to think / that the sun and other

stars / move around the earth.
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1. The * visitors

2. said * that they were ...
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L: T was walking / from the university down the hill
/ to the train station.
P: T was walking from the university / down the hill

to the train station.

L: High schools and businesses alike openly admit that
they don’t approve / of alteration of appearance of any
kind.

P: High schools and businesses alike openly admit /
that they don’t approve of alteration of appearance of

any kind.
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